N =19 N = 20 N =21

19 circles in a senicircle 20 circles in a senmicircle 21 circles in a semicircle

radius = 0.141008083760  density = 0.755564628060  §Eger: radius = 0.139095851256  density = 0.773906233460 g Eger: radius = 0.134390382053  density = 0.758552551272 [ Egmr:
ratio = 7.091791997533  contacts = 37 it tio = 7.189287034613 contacts = 40 ity tio = 7441008634886 contacts = 37 Lo

22 circles in a semcircle 23 circles in a semcircle 24 circles in a senmicircle

radius = 0.131288876303 density = 0.758417837803  gEger: radius = 0.128649676452  density = 0.761334005561 g Eger: radius = 0.1 density =
tio = 7.616791522309 contacts = 39 s tio = 7.773047143025 contacts = 47 s t 7

N = 25 N = 26 N = 27

25 circles in a senicircle 26 circles in a senicircle 27 circles in a semcircle

radius = 0.124584600939  density = 0.776066139560 radius = 0.121917986049  density = 0.772927756752 [ fgwrs radius = 0.118570768624  density = 0.759187467200 [ Fgmrs
ratio = 8026674183332 contacts = 23 tio = 8202235227224  contacts = 47 e oo t 8.433781880698  contacts = 51 ez

N =28

28 circles in a semcircle

N = 30

30 circles in a semicircle

radius =  0.117105282006  density = 0.767964236127 QEgere radius = 0.115456141678  density = 0.773146997773 QEgers radius = 0.113965603325  density = 0.779289524480 3 E S
tio = 8530324468291 contacts = 53 g tio = 8 661297575540  contacts = 67 gt ratio = 8774577335796  contacts = 58 e

N =31 N =32 N =33

31 circles in a senicircle 32 circles in a senicircle 33 circles in a semcircle

radius = 0111855081493  density = 0.775716673863  gEgwr: radius = 0.110502488840  density = 0.781491202553  gEgwr: radius = 0.109835130274  density = 0.796207885592  QEswr:
tio = 8940139210937 contacts = 59 g tio = 9049569928197 contacts = 62 g tio = 9.104555141017 contacts = 64 oo

N = 36

36 circles in a semicircle

0.107103121134  density = 0.780033341853
336796065428  contacts = 67

radius = 0.105783385013  density =
ratio = 9453280398255 contacts =

radius =  0.104344255391  density = 0.783916101590
tio = 0.583661278226 contacts = 7.




